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13000 GeV pp Jets

Rivet 3.1.10, = 2M events

mcplots.cern.ch [arXiv:1306.3436]

N

02 || I T I T | T I T I T I T [ ]
o [ AQ(jj) (CMS back-to-back jets) =
-~ m CMS N
0.2 — - ©- Pythia 6.428 390 -
0.18 - --H-- Pythia 6.428 391 7
"7 -+%- Pythia 6.428 392 =
T [ --%-- Pythia 6.428 397 ]
0.14 . ---¥-- Pythia 6.428 398 _
0.12 |— —
~ A
0.1— e —
- X .
0.08 — R
— [ | ””é‘;:ee’ﬂ: —
— Y ]
0.06 : g ;ﬂmggg.fzs :
0.04 - !:f:?:?t;:z;g?"'ﬂ =
0.02 |— —
a :l | | | | | | | | | |:
:l T T T T | T T T T |:
2 & =
B Ly -
1 g-:.:._ - = - . == r

B e St S S e i

— -~ Rty --.=_.-_=_@
05 — |

| : : | : : |

170 175 180



	Contents
	Page 1


